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	 (iv)	 ¥æò@âæ§ÇU ·¤æ ÁÜèØ çßÜØÙ ¥`ÜèØ ãUæðÌæ ãñUU Ñ

		  (¥)	 Na2O 

		  (Õ)	 MgO

		  (â)	 CO2

		  (Î)	 H2O

		  Aqueous solution of oxides is acidic :

		  (a)	 Na2O

		  (b)	 MgO

		  (c)	 CO2

		  (d)	 H2O

	 (v)	 â×ÌÜ ÎÂü‡æ ·¤ô 2θ ·¤æð‡æ âð ƒæé×æÙð ÂÚU ÂÚUæßçÌüÌ ç·¤ÚU‡æ ç·¤ÌÙð ·¤æð‡æ âð ƒæê× ÁæÌè ãñU?

		  (¥)	 2θ	 (Õ)	 3θ

		  (â)	 4θ	 (Î)	 θ

		  Turning the plane mirror by 2θ angle, the reflected ray turns by 
what angle ?

		  (a)	 2θ	 (b)	 3θ

		  (c)	 4θ	 (d)	 θ

ÂýàÙ-v	 (¹‡ÇU-Õ)  çÚU@Ì SÍæÙô´ ·¤è ÂêçÌü ·¤èçÁ° Ñ			   [1×5=5]

	 (Section-B)  Fill in the blanks :

	 (i)	 ________ ·¤è Âý·ë¤çÌ ¥`ÜèØ, ÿææÚUèØ Øæ ©UÎæâèÙ ãUæðÌè ãñUÐ

		  The nature of  ________  is acidic, alkaline or neutral.

	 (ii)	 ¥çÏ·¤ âç·ý¤Ø ÏæÌé mæÚUæ ·¤× â·ý¤èØ ÏæÌé ·¤æð ©Uâ·ð¤ Üß‡æ ·ð¤ çßÜØÙ âð 

ãUÅUæÙð ·¤è ç·ý¤Øæ ________·¤ãUÜæÌè ãñUÐ 

		  The process of removing of a less reactive metal by more 
reactive metal from the salt solution is called ________.
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	 (iii)	 ________ ·ð¤ ·¤æÚU‡æ ª¤c×æ ·¤æ SÍæÙæ¢ÌÚU‡æ ãUæðÌæ ãñUÐ

		  Due to ________  heat is transferred.

	 (iv)	 Âý·¤æàæ ·¤æ ç·¤âè âÌãU âð ÅU·¤ÚUæ·¤ÚU ©Uâè ×æŠØ× ×ð´ ßæÂâ ÜæñÅU ¥æÙæ Âý·¤æàæ ·¤æ 

________ ·¤ãUÜæÌæ ãñUÐ

		  Light strikes on any surface and comes back in same medium is 
called ________ of light.

	 (v)	 ×ðL¤ÚU”æê ________ ç·ý¤Øæ ·ð¤ çÜ° ©UîæÚUÎæØè ãUæðÌð ãñ´UÐ 

		  Spinal cord is responsible for ________ action.

ÂýàÙ-v	 (¹‡ÇU-â)  ©Uç¿Ì â`Õ‹Ï ÁôçÇ¸U° Ñ			   [1×5=5]

		        (·¤)	 	         (¹)

	 (i)	 âÖè ÂæñÏð	 -	 (a)	 ª¤c×æÿæðÂè

	 (ii)	 ¥çÖç·ý¤Øæ çÁâ×ð´ ª¤c×æ ·¤æ ©UˆâÁüÙ	 -	 (b)	 ×ðÍðÙ 

ãUæðÌæ ãñU

	 (iii)	 ÕæØæð»ñâ ·¤æ ×éBØ ƒæÅU·¤	 -	 (c)	 ©UˆÂæÎ·¤

	 (iv)	 °·¤ ÎêâÚðU ·¤æð ·¤Öè ÙãUè´ ·¤æÅUÌè	 -	 (d)	 »ñS·ð¤ÅU ×ð´

	 (v)	 ÅðURÜæòÙ	 -	 (e)	 Îæð ¿é`Õ·¤èØ ÕÜ ÚðU¹æ°¡

	 (Section-C)  Match the following :

		              (A)		                (B)

	 (i)	 All plants	 –	 (a)	 Exothermic

	 (ii)	 Reaction in which heat	 –	 (b)	 Methane 

is emitted

	 (iii)	 Main constituent of biogas	 –	 (c)	 Producer

	 (iv)	 Never intersect each other	 –	 (d)	 In a gasket

	 (v)	 Teflon	 –	 (e)	 Two magnetic lines of force
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çÙÎðüàæ	 Ñ	  	 ÂýàÙ ·ý¤×æ¢·¤ w âð { Ì·¤ ¥çÌÜƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU 

w ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ (ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ 

x® àæµÎ ãñU)

Instruction	  :		 Question Nos. 2 to 6 are very short answer type questions. 
Each question carries 2 marks. (Maximum word limit of 
each answer is 30 words)

ÂýàÙ-w	 Öæð…Ø ÂÎæÍü ×ð´ ÂæØð ÁæÙð ßæÜð ç·¤‹ãUè´ Îæð ¥`Üæð´ ·ð¤ Ùæ× çÜç¹°Ð	 [1+1=2]

	 Name any two acids found in food items.

ÂýàÙ-x	 Áñß-©UˆÂýðÚU·¤ ç·¤âð ·¤ãUÌð ãñ´U?			    [2]

	 What is bio-catalyst?

ÂýàÙ-y	 ÂßÙ ª¤Áæü ·ð¤ Îæð ©UÂØæð» çÜç¹°Ð			   [1+1=2]

	 Write two uses of wind energy.

ÂýàÙ-z	 L¤çÏÚU @Øæ ãñU?			   [2]

	 What is blood?

ÂýàÙ-{	 ÁèßÖæÚU ç·¤âð ·¤ãUÌð ãñ´U?			   [2]
	 What is biomass?

çÙÎðüàæ	 Ñ	  	 ÂýàÙ ·ý¤×æ¢·¤ | âð v® Ì·¤ ¥çÌÜƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU 

x ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ (ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ 

z® àæµÎ ãñU)

Instruction	  :		 Question Nos. 7 to 10 are very short answer type questions. 
Each question carries 3 marks. (Maximum word limit of 
each answer is 50 words)

ÂýàÙ-|	 ÁÜ ·¤è ×ãUîæ× çßçàæcÅU ª¤c×æ ·ð¤ ÎñçÙ·¤ ÁèßÙ ×ð´ ÌèÙ ©UÂØæð» çÜç¹°Ð	 [1+1+1=3]
	 Write three uses of maximum specific heat of water in daily life.

ÂýàÙ-}	 Üñ´â ·ð¤ ·¤æð§ü ÌèÙ ©UÂØæð» çÜç¹°Ð			   [1+1+1=3]
	 Write any three uses of lens.

ÂýàÙ-~	 ¿é`Õ·¤ ·ð¤ ÌèÙ Âý×é¹ »é‡æ çÜç¹°Ð			   [1+1+1=3]
	 Write three main properties of magnet.
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ÂýàÙ-v®	 °·¤ ãUè ÁæçÌ â×êãU ×ð´ ©UÂçSÍÌ âÖè Áèßô´ ·ð¤ Üÿæ‡æ â×æÙ ãUæðÌð ãñ´UÐ §â â×æÙÌæ ·ð¤ 

·¤æð§ü ÌèÙ ·¤æÚU‡æ çÜç¹°Ð			   [1+1+1=3]

	 Characters of all the organisms present in a species are similar. Write 

any three reasons of this similarity.

çÙÎðüàæ	 Ñ	  	 ÂýàÙ ·ý¤×æ¢·¤ vv âð vy Ì·¤ Üƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU 

y ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ (ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ 

|z àæµÎ ãñU)

Instruction	  :		 Question Nos. 11 to 14 are short answer type questions. 

Each question carries 4 marks. (Maximum word limit of 

each answer is 75 words)

ÂýàÙ-vv	 ×æãUßæÚUè @Øæ ãñU? §â·¤æ ×æÎæ ×æÙß àæÚUèÚU ÂÚU @Øæ ÂýÖæß ÂÇ¸UÌæ ãñU?	 [2+2=4]

	 What is menstruation? What effect it has on the female human body?

¥Íßæ 

OR

	 Âý·¤æàæ-â¢àÜðá‡æ ·¤è ÂçÚUÖæáæ çÜ¹·¤ÚU Âýç·ý¤Øæ ·¤æ ÚUæâæØçÙ·¤ â×è·¤ÚU‡æ çÜç¹°Ð

	 Define photosynthesis and write chemical equation of the process.

ÂýàÙ-vw	 âÁæÌèØ ÌÍæ â×ßëçîæ Üÿæ‡æ @Øæ ãñU? ©UÎæãUÚU‡æ Îð·¤ÚU SÂcÅU ·¤èçÁ°Ð	 [2+2=4]

	 What are homologous and analogous characters? Explain with 

example. 

¥Íßæ 

OR

	 ×ÙécØ ×ð´ çÜ¢» çÙÏæüÚU‡æ ·¤è Âýç·ý¤Øæ ·¤æ ß‡æüÙ ·¤èçÁ°Ð		 [4]

	 Describe the process of sex determination in human.
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ÂýàÙ-vx	 °·¤ Ìˆß ·¤æ ÂÚU×æ‡æé ·ý¤×æ¢·¤ vw ãñUÐ

	 (¥)	 Ìˆß ·¤æð ÂãU¿æÙ ·¤ÚU Ùæ× çÜç¹°Ð¤

	 (Õ)	 ¥æÏéçÙ·¤ ¥æßÌü âæÚU‡æè ×ð´ §â Ìˆß ·¤è â×êãU â¢BØæ çÜç¹°Ð

	 (â)	 ¥æÏéçÙ·¤ ¥æßÌü âæÚU‡æè ×ð´ §â Ìˆß ·¤æ ¥æßÌü çÜç¹°Ð¤

	 (Î)	 §â Ìˆß ·¤æ §Üð@ÅþUæòçÙ·¤ çß‹Øæâ çÜç¹°Ð		  [1+1+1+1=4]

	 Atomic number of an element is 12.

	 (a)	 Identify and write name of the element.

	 (b)	 Write the group number of the element in modern periodic table.

	 (c)	 Write the period of the element in modern periodic table.

	 (d)	 Write electronic configuration of this element.

¥Íßæ 

OR

	 ¿æÚU Ìˆß ·¤è ÂÚU×æ‡æé â¢BØæ°¡ ·ý¤×àæÑ z, |, ~ °ß¢ v® ãñ´Ð ÕÌæ§° ç·¤—

	 (i)	 ·¤æñÙ-âæ Ìˆß ß»ü v} ·¤æ ãñUÐ

	 (ii)	 ·¤æñÙ-âæ Ìˆß ß»ü vz ·¤æ ãñUÐ

	 (iii)	 ·¤æñÙ-âæ Ìˆß ß»ü vx ·¤æ ãñUÐ

	 (iv)	 ·¤æñÙ-âæ Ìˆß ß»ü v| ·¤æ ãñUÐ

	 Atomic numbers of four elements are 5, 7, 9 and 10. Write–

	 (i)	 which element belongs to Group 18.

	 (ii)	 which element belongs to Group 15.

	 (iii)	 which element belongs to Group 13.

	 (iv)	 which element belongs to Group 17.
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ÂýàÙ-vy	 ÕãéUÜ·¤ ç·¤âð ·¤ãUÌð ãñ´U? °ÍèÙ ·ð¤ ÕãéUÜ·¤è·¤ÚU‡æ ·¤æð â×Ûææ§°Ð	 [2+2=4]

	 What are polymers? Explain the polymerization of ethene.

¥Íßæ 

OR

	 çßÚ¢UÁ·¤ ¿ê‡æü ÕÙæÙð ·¤è ÚUæâæØçÙ·¤ â×è·¤ÚU‡æ °ß¢ ·¤æð§ü Îæð ©UÂØæð» çÜç¹°Ð	 [2+1+1=4]

	 Write the chemical equation of the preparation method and any two 

uses of bleaching powder.

çÙÎðüàæ	 Ñ	  	 ÂýàÙ ·ý¤×æ¢·¤ vz °ß¢ v{ Îèƒæü©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU 

z ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ (ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ 

v®® àæµÎ ãñU)

Instruction	  :		 Question Nos. 15 and 16 are long answer type questions. 

Each question carries 5 marks. (Maximum word limit of 

each answer is 100 words)

ÂýàÙ-vz	 °·¤ ×ÀUÜè ÌæÜæÕ ·¤è âÌãU âð |z âð×è. »ãUÚUæ§ü ÂÚU ÂýÌèÌ ãUæðÌè ãñU, Ìæð âÌãU âð ©Uâ·¤è 

ßæSÌçß·¤ »ãUÚUæ§ü ™ææÌ ·¤èçÁ°Ð (çÎØæ »Øæ ãñU—ÁÜ ·¤æ ¥ÂßÌüÙæ¢·¤  43 )	 [5]

	 A fish seems to be at the depth of 75 cm from the surface of a pond, 

then find out its actual depth from the surface. (Given – refractive 

index of water  43 ) 

¥Íßæ 

OR

	 Âý·¤æàæ ßæØé âð v.z® ¥ÂßÌüÙæ¢·¤ ßæÜð ·¤æ¡¿ ŒÜðÅU ×ð´ Âýßðàæ ·¤ÚUÌæ ãñUÐ ·¤æ¡¿ ×ð´ Âý·¤æàæ 

·¤è ¿æÜ ™ææÌ ·¤èçÁ°Ð (çÎØæ ãñU—çÙßæüÌ ×ð´ Âý·¤æàæ ·¤è ¿æÜ 3×108 ×è./âð.)

	 Light enters from air to glass plate having 1.50 refractive index. 

What is the speed of light in glass? (Given – speed of light in 

vacuum 3×108 m/sec)
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ÂýàÙ-v{	 ÂýˆØæßÌèü çßléÌ ÁçÙ˜æ ·¤è ç·ý¤ØæçßçÏ ·¤æ âç¿˜æ ß‡æüÙ ·¤èçÁ°Ð 	 [3+2=5]

	 ÙôÅU Ñ ÎëçcÅU ÕæçÏÌ çßlæÍèü çßléÌ ÁçÙ˜æ ·ð¤ ç¿˜æ ·ð¤ SÍæÙ ÂÚU ©Uâ·ð¤ çßçÖ‹Ù Öæ»ô´ 

·¤æ ß‡æüÙ ·¤Úð´U»ð ß ç·ý¤ØæçßçÏ  çÜ¹ð´»ðÐ

	 Describe working mechanism of AC electric generator with 

labelled diagram. 

	 Note : Visually impaired students describe the different parts of AC 

electric generator in place of diagram and write working mechanism. 

¥Íßæ 

OR

	 ÂýçÌÚUæðÏ ·¤æ â×æ‹ÌÚU ·ý¤×¤ â¢ØæðÁÙ @Øæ ãñU? ÌèÙ ÂýçÌÚUæðÏæð´ ·¤æð â×æ‹ÌÚU ·ý¤× ×ð´ ÁæðÇ¸U·¤ÚU 

ÂçÚU‡ææ×è ÂýçÌÚUæðÏ ™ææÌ ·¤èçÁ°Ð 

	 What is parallel combination of resistances? Calculate resultant 

resistance of parallel combination of three resistances. 

çÙÎðüàæ	 Ñ	  	 ÂýàÙ ·ý¤×æ¢·¤ v| °ß¢ v} Îèƒæü©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU 

{ ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ (ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ 

vz® àæµÎ ãñU)

Instruction	  :		 Question Nos. 17 and 18 are long answer type questions. 

Each question carries 6 marks. (Maximum word limit of 

each answer is 150 words)

ÂýàÙ-v|	 (¥)	Á¢» (rust) @Øæ ãñU? Á¢» Ü»Ùð ·¤æ ÚUæâæØçÙ·¤ â×è·¤ÚU‡æ çÜç¹°Ð 	 [1+2=3]

	 (Õ)	 Á¢» Ü»Ùð âð Õ¿Ùð ·ð¤ ·¤æð§ü ÌèÙ ©UÂæØ çÜç¹°Ð	 [3]
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	 (a)	 What is rust? Write chemical equation of rusting.

	 (b)	 Write any three measures to prevent rusting.

¥Íßæ 

OR

	 ßæØé×‡ÇUÜ ×ð´ âÕâð ¥çÏ·¤ ×æ˜ææ ×ð´ ÂæØð ÁæÙð ßæÜð »ñâ ·ð¤ â`Õ‹Ï ×ð´ çÙ`Ù çÕ‹Îé¥æð´ 

·ð¤ ¥¢Ì»üÌ çÜç¹° Ñ 

	 (¥)	 »ñâ ·¤æ Ùæ× ß ÚUæâæØçÙ·¤ â×è·¤ÚU‡æ		   	 [3]

 	 (Õ)	 ·¤æð§ü ÌèÙ ©UÂØæð»			   [3]

	 Write about the gas found most abundantly in the atmosphere under 

the following points :

	 (a)	 Name of the gas and chemical equation

	 (b)	 Any three uses

ÂýàÙ-v}	 (¥)	 L¤çÏÚU ·ð¤ ·¤æð§ü ÌèÙ ·¤æØü çÜç¹°Ð			   [3]

	 (Õ)	 ¥æ×æàæØ ×ð´ dæçßÌ HCl ·ð¤ ·¤æð§ü ÌèÙ ·¤æØü çÜç¹°Ð	 [3]

	 (a)	 Write any three functions of blood.

	 (b)	 Write any three functions of HCl secreted in stomach.

¥Íßæ 

OR
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